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slow    The deer is ___________ ___________ the giraffe.

Worksheet 2

 Look at the chart and complete the sentences.

Words and Grammar

rhinoceros wolfhippopotamus turtle

deer

68 kg    48 km/h

2,400 kg  48 km/h

giraffe

1,190 kg  52 km/h

45 kg    60 km/h

cheetah

70 kg    120 km/h

1,500 kg  30 km/h

fox

7 kg    68 km/h

300 kg    0.3 km/h

slower than1

fast    The hippopotamus is ___________ ___________ the turtle.2

light    The cheetah is ___________ ___________ the rhinoceros.3

heavy    The wolf is ___________ ___________ the fox.4

fast    �Which animal is ___________, the deer or the giraffe? 

   The ___________ is ___________.

5

slow    �Which animal is ___________, the deer or the giraffe? 

   The ___________ is ___________.

6

heavy    �Which animal is ___________, the deer or the giraffe? 

   The ___________ is ___________.

7

light    �Which animal is ___________, the fox or the wolf? 

   The ___________ is ___________.

8

fast    Which animal is the ___________? The _____________ is the fastest.9

slow    Which animal is the ___________? The _____________ is the slowest.10

heavy    Which animal is the ___________? The _____________ is the heaviest.11

light    Which animal is the ___________? The _____________ is the lightest.12
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